LABJNDu8-Dreieckshelligkeit t*
Yn=Yw nc=100,

t* L ABINDUS =IN[(A 17+ ARY)V(A 20Aon)] (Yad L00<Y<=Y )
t*,(3,6)=218 t* ,(18)=496 t*\(90)=772

log[t*/t* ]
* =49, t* =492

t*9=771,96, Ay=1 0, ¢=0,67,
t*15=4¢5,86, A =0 M7, A=0,0038

t*36=218,08 t%,=4¢ :86 Y,=18 CH

1
1Y,=18
! Y=

aVn=36

log(AY) LABJINDUS
N% Normfarbwertdifferenz
Yoc=Yw - nc=100,
L ABINDug=[IN[(A 10+A2nY)V(A 20A 0n)] (Yad/100<Y<=Y,)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon a=1,0, siehe CIE 230:2019
d¥95=0,55, Ay=1,500, ¢=0,67
dY;=0,13, A =0, 017 Agn 0,0038
dY3 6=0,04 Y,=18, dY=0 4

o
t*,=496 dY,=0,13 le‘/‘. =02072. ¢

0 bereich
1Y,=18
Yy =90

log (AY/Y) LABJINDuUS
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

L aBINDus=IIN[(A 1n+A2)I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=AG A1 +AZYYY

(dY/Yy=0,2061, Ay=1,500, =0
(dY/Y)g=0,072, A, 0017, Az 0, 50038
(dY/Y},0,0122 Y,=18, dY=0,1

~

Jog(dY/Y)E-2,13 m,= c; Tev
og( r28m TRy n aPgreich

t*,=496 dY,=0,13 dY,/Y,=0,00721
1

1
'y,=18
Yw=90

Yn=3.6

LABJNDu8
Normfarbwertkontrast
Yac=Yw - nc=100,
L aBINDUs=[IN[(A 1n+A2)I/(A 2nA0n)] (Yae/100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY)=163,60, Ay=1,500, ¢=0,67

&
(Y/dY)g=138,01, A;=0.,017, A,=0,0038
(YIdYy =77.44 218, d\=0.13

log (Y/AY)
C,=(Y/AY)

t*,=496 dY,=0,13 Y,/dY,=138

log(Y/dY)=2,13 m;=0,18 , «.*
>

bereich
Y,=18
74-:—:-;-:-:-:[: e

1
1
. 1 Anwendungs-|
1
1

YN=3.6 §Yy=90

Anwendungs-]

Anwendungs-

Anwendungs-

it
(S

LABJINDu8 relative Dreieckshelligkeit t*/t*,
Y= Yw nc=100,

t* L asanDus=INIA 17+ AsI(A 20A 0] (Yad/100<Y<=Y, )
t*(3,6)=218 1* ,(18)=496 t*,/(90)=772

l:go/l: =1,55, Ay=1,500, ¢=0,67

{119/t =1.00. A=0017, 5,20,0038

5 t*,=0,43,t%,=495 86 Y=L

log[t*/t* ]=0, m,=0,33

1 Anwendungs-|
1 bereich

1Y,=18

V=90

I M\=36

LABJNDuS relative
Normfarbwertdifferenz
Yne=Yw nc=100,

t*LaBINDus =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,21, Ay=1,500, ¢=0,67
Y¢/dY,=1,00, A\n=0,017, Az :o,oo
dY3 ¢dY,=0,35 Y, =18, dY=0,13

log(A Y/AY i)
AYIAY,

>
t*, =496, dY,=0. 13 dY,/' =0 072 "

R
log[(dYY(dY),]=0. :3,=0,51 ‘ 1
> 1 Anwendungs-
- 1 bereich
1y,=18

Yy=90

Yn=3.6

log [(AY/Y) I (AYIY)] LABJINDuS relative
Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYY,=(AgAg Y)Y AYIYY]

(AY/Vyo(dYr N=C,24 Av=1,500, 6=0,67
(dY/YYg/(dY/Y)~1 00, Am:U,Ul7, A,=0,0038
(dY/Y J(dY/Y)=1.3 V-E18, dY=0,13

- Ny
log[(dY/YY(dY/Y),]=0, m=-0,18 1
t*,=496 dY,=0,13 dY,/Y,=00072]  pIwendungs,
1y,=18

=Clp log

Y236
log [(Y/AY) I (YIAY),] LABJNDuS relativer
Normfarbwertkontrast
Gl =(YIAV)/(YIAY), oty oo
t*Laganpug =[IN[A 1n+A2nVI/(A 20A0n)] (Yno/100<Y<=Y, o)
YIAYYCYIAY ), =YY IAY )A on(Arn+As I (Y/Y),

(Y/dYpo/(YIdY)=1,18, Ay=1,500, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0038
(YIdY} ¢(Y/dY)=0,56 Y,=18 d\=0,13

t,=496 dY,=0,13 Y,/dY, 4%
- 1 Anwendungs-|
s 1 bereich
'y,=18
Yw=90

—




